ﬂmo

<}
il



o|J
S
ol

ofg

23
90

gl
B>
(an)
©
] 70
[a\ B =)
M~ I
TR
=N
o o
@ ©
™ 7m
~ g7 1=
T
o o
© @



& TESE x 9 3 FoIN TV AL AL

® 3 @ 4 ® 5



re 4%t

o] A sk 714 4

=z}
™

<09]

x 2x-1
3 2

=
54

1=}
T

4.

@1



= Fgel A g3t Bl

°ril 9

IL

1
e o] 21871

ol =71 200 Yeld, 5
A2 &elste] 20% &elsto] Fobal gy, 2 1 o]

[e]

D 4119 @ 427 ® 459 @ 48 ¥

03 °l
A

gold 24

® 50

&

g

o]

bl
2



op

@ 3.141592



1A IA —x -2y +4 & H5HAIEY 4x+y -3 ] =3

IS
?

O —x+2y-7 @ —x+3y-3

@ 5x+3y-7

® 5x—2y+4
® bx+3y+7



8. A=x-3y,B=-3x+2y dW,5A-[B-{3A-(A-2B)}] & x, »
of ¥t 4o g2 LY

® 4x+ 19y @ 4x-19y ® 6x+ 11y

@ 6x-11y ® 3x-y



9. x:y=2:3dW,5x+2y-3&x W

D R
=%

Sk A0 2 vEpjole),



10. @ 4 x o 4 Wlo] 2 B g S 1 404 32 W A9 5 HjEct
7] gheh & A0 ehd 229

@® 4x+2<5(x-3) @ 4(x+2)<5(x-3)

® 4(x+2)>5(x-3) @ 4x+225x-3

® 4x+2<5(x-3)



@ 4 ® 5 @ 6 ®7

@ 3



@201 ®21% @ 27 ® 2319

®19%



13.

® 3.5km



14. thee 41 $5H0E vt

=

A

AZHE A

ru
tlo

AEH?

8% AEE 200g oA B2 =

TAZAEY FE7}F 12% olAFo]

=] Q.
x 100 > 12 16 x 100 > 12
200 + x - 200 + x -
100 > 12 100 > 12
©) 21060_Xx 00 > @ 500 =3 < 00 >
X %100 > 12

200 - x







M~
el
=
™
nH
<l
utd
o
ﬂ O_L
M N
o or
F o
H+
o S
oF =
Co

<
W
T oK
W or
=
dox
ww ok
|2 N
— 3
©

@ 75 ® 83 @ 89 ® 90

D 73



17. 0.4 9F0.7 Aole] Emh o o B4 & 4k egle o) §ata
27} = A0 A4 n Aolh 1 o] S Fotolat.

B A



18. n o] H5 , (~4)% 5 (~2)" = ~20°6 oJek. o] w4 n O] L
Fotofet.

D
=%



=4 xy?z — 2x%y + 5yz2
3xye O] Ft& oot






21.

St 2] A5 a, b ol Tisted, 0.67 - 0.3 = 0.ab D W, a x 0.b &
+=2tA2 v 27 Yepd A9

@® 0.21 @ 0.21 ® 0.2 @ 1.3 ® 0.41



=°] obd = a, bol tiste] 20420 <14 20%0 (H, Fo=a =0 %=
b=0d o Fe)o] AHTh a+b+c=4Y o, 2¢ + 20 4 2¢ 9]
Figks Fotolet (B e>0)

=
=%



23.

2" =x,6" =yt & o, (2" + 2" x 3!
Lreholat.

D
=%

o
= X,

y E AR

<



24.

f(x) = 20 & Yehdnta @
Taola

of(4)=x
o f(y) = 3
o f(2) + f(z2) x f(-3) = 6

D L
=%



a—1 a

1 _ —
5 +3<§%1fq1,ax+3<3a+x94 = =EH?

@ x<3 @ x>3 ® x<-3
@ x>-3 ® x<1



